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& (arithmetic operator) 7

«—JTiE & F(unary operator)( REE—{EEE 1)
BlUn: IR IR R E SR £

K—numl + hum2;
K=num1 - num2;
K=num1 * num2;
K=num1 / num2;
K=num1 % num?2;

EE t(operand):BE(1,2, 3,.... ) EEE(EEYW: numl,num?2,......) *
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2 £ (arithmetic operator)

a2 28 3
+ R EZE S THINAES X+y
- R HMEE S TTRIBAES X-y
* RIEMEZES TTHIOAES x*y
/ RIEMIEZES TTIRAES X/y
% RHEMEEZETRREES X%y
BEt(operand):BE( 1,2, 3,.....) 2 B(LEW: num1,num2,......)
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i L =6 151
5+2=7
5-2=3
5*2=10
2=28x1
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#include <{iostream>

#include <{iomanip>

using namespace std:
int main()

int numl, num? :

¥

ciny>numl > >num? : /i A

7

Lid 4

cout<<{numl num2<<"="<<num1+num2<<endl :

cout<<numl<<"="<<num2<<"="<<num1—num2<<end] :
cout<<numl << * <<{num2<< = <<numl#*num2<<endl:

cout<<numl1<<” /" <<num2<<"="<<numl/num?2 37 <<num1%num?
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return 0;




e B E F(assignment operator)

(BRZME - TraEP—18)
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int a,b,result;

cin>>a>>b;

result = a+b; !7 result B2 a+b




B-F1:

intx =50 X 2152 x+100,
X =x+100;: x=1%E3%150
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H#Hinclude <iostream>

#finclude <iomanip>

using namespace std;

int main() {
int s,a,b: 9/5#R=ZE1 -
float f; DBRIBEE . (g

cin>>f>>end|: 9.0/5.0%%%1.8
f=((float)9/5f5¥32;

cout<<“ZE [ R & A" <<fixed<<setprecision(1)<<f<<end|;

return O;

}
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MR LARInt(BREER)BiEkfloat(EiFEFMEERE) - EERK?
Bl (RERamFERE - Ha=9/5 - afVERZ D (UELARNBFIRESN)?

#include <iostream>

#include <iomanip>

using namespace std; #55R: 1.000000

int main(){ (RBOFSHEEE - PRI ENEI9/SHERIEZREIEN(1.8/1) - )
float a; aAsaRE . 9/5pE(UE AAZVNEFEESE /) ES1.800000 ¢
a=9/5;

cout<<fixed<<setprecision(6)<<a<<endl;
return O;

}
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(compound assignment operator)
intc=12,d=12,e=12,f=12,g =12,

EoREEEE T

+= c+=7 c=c+/ c 7% 19

-= d-=4 d=d-4 d 5% 8

%= e*=5 e =e*5 e 5%l 60

/= f/=3 f=£/3 f 5% 4

%= g %=9 g = g%9 g =33

B T (expression): AE & F(operator)EiE E jr(operand) A X - KRREZECEEERE T
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http://www.cplusplus.com/doc/tutorial/operators/

1+
C=cC+3;
MAREESE+=

AR AL C +=3;




1 #include <{iostream>
2 using namespace std;

3 int main() {
4 int ¢=12, d=12, e=12, f=12, g=12;

return 0;
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(mcrement operator/ decrement operator)

BT B F (arithmetic operator) I HE & —7i&

-m—IUEBE f(unary operator)

B
++ ++3 JET] EJ/XaE’ﬁﬂELT_E%
++ a++ uaEHuE’JE EiTES B
ik | AR
-- --b Rl Eubﬁ’ﬁﬁELf—E%
-- b-- ubEHuE’JE E1TESR - BiFbiER1

BE T (expression): AE S f(operator)EiE & jt(operand) B
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1 #include <{iostream>

2 using namespace std:

3 int main()

[

LNt

c=9:

cout<<
cout<{<{ct+<<endl ; /*5H*
cout<<c<<endl;

c=o;

cout<<c<<endl; /*5H*
cout<{<{++c<<endl : /*6*
cout<<{c<<endl ; /*6*

return 0;




1 #include <{iostream>

2 usi [lg Ilallespace Std,

3 int main()

cout <<
cout<<c

return 0:




